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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1. Tenef Ty 91 U3 99 W Ak Sifqardd: faw |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. W T H eI 9 AU TR A e YR &t Jfe / TR / faieana g1 W
o=t siron & 7oA I W A |

If there is any error / difference / contradiction in Hindi & English

versions of the question paper, the question of Hindi version should
be treated valid.

3. uft T w afed ©
All the questions are compulsory.

4. YIS I H 3N & T SW-Yen | g g |
Write the answer to each question in the given answer-book only.

5. o 9 % T ¥ Afss TH i el 9 €, 39 9t Wl 1 T T WY 6aq
ford |
For questions having more than one part carrying similar marks, the
answers of those parts are to be written together in continuity.

6. T FHA® 237 24 H i fawed € |

Question Nos. 23 and 24 have internal choice.
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7. U €@ 29 5 T AT THAUEE T § T Tdh IR A Th IR 4
G REGE R e
Question Nos. 2 to 5 are very short answer type questions. The

answers of these questions should be given in one word to

thirty words each.
8. U HHG 1k IR YN ( i, ii, fiddM iv) & | Tk 9N o ST & IR faeheq

(3, &, W@ g) T | Het fashed 1 IqUER SW-Yieht § FT=ar arfersht
TR ford

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
four alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

Y9 ShHiHh TE ST T THATAR
Question No. Correct letter of
the Answer
1. (i)
1. (ii)
1. (iii)
1. (iv)

1. () 9 TH 999 & SRR H T2 T ad st gHl I W €, A Tererers
T Bt A SThT TR TUE g

(31) 3m @ T
(|) =t () s

In a human blood when both antigens A and B are present, but

there are no antibodies, his blood group is

@A O B A
€ B (D) AB. >
SS—42-2—Bio. II

https://byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

C[ATE
3
(i) AfE AFIAHR AlAHRTT YT S HET 9 F < o F7=1 § § -t foman
guferd grft 2
(31) Yo () IR Fqer
(|) gT (3)  HISH & SEEu |
Which of the following functions will be affected, if the
semicircular canals stop functioning ?
(A) Respiration (B) Balance of body
(C) Hearing (D) Absorption of food. %
(iii) TS Hi foham § Tk Wt sves 9 fovad o10eTy] 9 §&fia &l &1
frefor grm 2
(31) T TS 9 Y YA HA
() T TUeI] 9 T Y wA
(9) T A0S o iF ¢era
(3) <R AUS] § Tk Yold FM |
How many ova and polar bodies will be formed from one primary
Oocyte in the process of Oogenesis ?
(A) Two ova and two polar bodies
(B) Three ova and one polar body
(C) One ovum and three polar bodies
(D) Four ova and one polar body. %
(iv) Toromegresit e W B S e R i B T R A 2
(1) 100% T () 100% aH
(|) 75% A= & 25% 8 (3) 50% T T 50% A |
What will be the progeny when a heterozygous tall plant is
crossed with dwarf plant ?
(A) 100% tall
(B) 100% dwarf
(C) 75% tall and 25% dwarf
(D) 50% tall and 50% dwarf. 5
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2. AH-TEIfHeH F T ?

What is os-innominatum ? 5
3. T iImen® ?

What is haematuria disease ? %
4. Ik AR I TR HIfST |

Define Spermiogenesis. %

5. o fagm & ufaa ags & o Torgs § s e gt 2

What will be the arrangement of sex chromosomes in human,

. - 1
suffering from criminal syndrome ? 5

6. TMA IR H Tovghdl W Ay T ® w9 fhe w9 H d@iea fwan s
€ 2

Where and in which form is excess of glucose stored in human body ?
11

7 +3 =1

7.  SARHSHIHLO 1 YR ST |

Define oxygenation. 1
8. Tgriagfc :=1 ¢ ? 39 THh 3w i |

What is binocular vision ? Give one example. % + % =1
9. TN WAl &I 3F Ul Fi Fel Sl © ?

Why is adrenal medulla called 3F gland ? 1
10. ‘{SThElAdl’ sl 9=y |

Explain ‘albinism’. 1

11. 999 B 9 a8 o S &1 a9 79 fafeu |

Write the scientific names of the smallest and the largest genes.

1
+3 =1

N =~
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12. MRI 9t ford fagra & &dl § 2 39! T fawmar fafaw |

MRI technique is based on which principle ? Write one of its
1 1

characteristics. 7 +3 =1
13. fafmeeng ?
What is spinning ? 1

14. dfeh1 9 % gR &ed X o 0 guesy |
Explain the regulation of heart rate by the nervous system. 2

15. Ife 39 1 HIRATH STH w1 T F fen 99 @ wE-9 fmand gafad
g ? SR gfed IuEmsy |

Which functions will be affected on the destruction of chorionic

epithelium of placenta ? Explain with reason. 1+1=2
16. 3dd =k H did fuve yreareen &l 993y |

Explain Luteal phase in the Menstrual cycle. 2
17. foRyomar 9 wreretsqA 3 o=<R faf@u | 9o &1 Teh-Teh I3EA ST |

Differentiate between neoteny and paedogenesis. Give an example of

each. 1+1=2

18. 3AfC YEhTU] Yol IR & Ticsiehd &l A & e S @ wiF-d fhan gwifaa
BNl ? RO Hied THLARY |

If the golgi body of spermatid is destroyed, which function will be

affected ? Explain with reason. % + 1 % =2

N N

19. IS FAfHT bt Ufshan | ek GIqUU0 qehileh o BHIele] dehiieh H TR

fafEu |

Differentiate between nuclear transplantation technique and Honolulu

technique in the process of reproductive cloning. 2
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20. & =Ae W ¥ 5w I o1 fgm feva Smar ® 2 39 9 & S T
I 9 9 IR ey fafgu |

Western blot test is done for the diagnosis of which disease ? Write

the scientific name of the pathogen and four symptoms of this

. 11
disease. 7 +37 +1=2

21. = fosivan arelt weymfraa & e Tm fafay .

haN o

(i) oTPR H Fad BRI 9 SWUH Fhfd |

(i) TR H od ISt 9 it A1 § 8T IS |

(iii) B 9 I ©9E |

(iv) SR gfe ¥ Faifee ITAr |

Write the scientific names of honeybees having the following

s 1 1 1
characteristics : 5 +3 +3 +

2 =2

N =

(1) Smaller in size and timid in nature
(i) Largest in size and produces highest yield of honey
(iii) Small in size and mild in nature

(iv) Most useful for commercial purpose.

22. foim eort swmifg %1 gRenfyg wife | 39t 9R yq@ favman] fafeay | 9w
TR & el MR S STgw ST 5N UHSEy, 9 391 @i o aAET |

Define sex-linked inheritance. Write its four characteristics. Explain
protenor type of sex determination with suitable example and draw its

ray diagram. 1+1+1+1=4
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23. WIA & qr=H 0F hl AWifhd o IET | TE0H F Brl 37 | 9= i fohanfary
H TSR |
Jrerar
=l GfY 1 AWifRd faa ST | SHRT HLEAT o S IU-YRRI ki I Higd
AT |

Draw a labelled diagram of digestive system of human. Explain the

mechanism of digestion in duodenum and small intestine.
1+2+1=4
OR

Draw a labelled diagram of Synovial joint. Explain its structure and

two subtypes by giving example. 1+2+1=4

24. MY ARESH &1 AHifehd o SARET | 39 {9 9 & %l Sl THET |

SPE]

TR fRE FEd &€ 2 THH AHifhd T SZT o 3Hh! W= hl THART |

Draw a labelled diagram of human brain. Explain the functions of its

various parts. 1+3=4

OR
What is nephron ? Draw a labelled diagram and explain its structure.

1+1+2=4
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